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NEW QUESTION 1
Which networks benefit from the consistent enforcement policies enabled by Cisco's approach to security?

A. physical, virtual, remote, and cloud networks
B. physical networks only
C. physical and cloud networks only
D. physical, virtual, and cloud networks only

Answer: A

NEW QUESTION 2
A business capability consists of which of the following to enable the long-term strategy of the business?

A. Security, enablement, experience
B. Technology, expertise, process
C. People, tools, experience
D. People, process and technology

Answer: D

NEW QUESTION 3
Which of the following is a key feature of Cisco Data Center?

A. software-defined segmentation
B. quick mitigation of threats that breach defences
C. hyperconvergence for databases
D. seamless multicloud mobility

Answer: D

NEW QUESTION 4
Customer relationship takes into consideration the conceptual nature of person as compared to their detailed nature. What does conceptual nature means?

A. The conceptual nature of a person is about their knowledge and their intrinsic and extrinsic motivations.
B. The conceptual nature of a person is about their work experience and their intrinsic and extrinsic motivations.
C. The conceptual nature of a person is about their personality and their intrinsic and extrinsic motivations.
D. The conceptual nature of a person is about their attitude and their intrinsic and extrinsic motivations.

Answer: C

NEW QUESTION 5
The Cisco Data Center captures the intent of users and applications. Which is not a benefit?

A. Enhance IT operations
B. Seamless multicloud mobility
C. Enhanced application performance
D. Pervasive security

Answer: A

Explanation: 
https://cdw-prod.adobecqms.net/content/dam/cdw/on-domain-cdw/brands/cisco/intent-based-data-center.pdf

NEW QUESTION 6
Cisco is positioning itself to recognize greater value and superior differentiation and deliver better business outcomes for its customers. Which of the following
statements is not true?

A. They aim to price models in a more user-centric approach
B. They aim to provide flexible approaches to service offerings
C. They aim to provide more solution-based offerings
D. They aim to adopt personalized offerings to their customers

Answer: D

NEW QUESTION 7
Cisco fog delivers business outcomes. Which is not one of the outcomes mentioned in the slides?

A. Improve operational effectiveness
B. Gain new revenue streams
C. Increase product quantity
D. Increase customer satisfaction and trust

Answer: C
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Explanation: 
https://www.cisco.com/c/en/us/solutions/internet-of-things/iot-data-analytics.html

NEW QUESTION 8
Which phase of Cisco's Sales Cycle involves the presentation of the business case to relevant stakeholders?

A. Design and Distribute
B. Customer Commitment
C. Analyze and Design
D. Research and Analyze

Answer: D

NEW QUESTION 9
Which of Cisco's channel routes to market uses automated campaigns driven by customer data to optimize seller efficiency and productivity?

A. Digital Touch
B. Field Sales
C. Virtual Sales
D. Partners

Answer: A

NEW QUESTION 10
What are the four BOST Enterprise Architecture Framework views?

A. Busines
B. Operations, Security, and Tactics
C. Busines
D. Operations, Security, and Technology
E. Business, Operations, Systems, and Technology
F. Business, Operations, Sales, and Talent

Answer: C

NEW QUESTION 10
What tool helps the Cisco Business Architect to gain and leverage their knowledge of the customer's business?

A. Collaborative Business Model
B. Solution Architecture Design Map
C. Business Model Canvas
D. Customer Requirement Map

Answer: A

NEW QUESTION 15
What is the negative impact of digitization on businesses?

A. Moving applications away from the web
B. Putting demands on the network
C. Making old experiences seem new
D. Increasing the security of data

Answer: B

NEW QUESTION 16
How does Cisco's web security appliance protect the organization?

A. file reputation during an attack
B. daily scanning of web traffic for anomalies
C. parallel AV scanning
D. automated monitoring and analysis across the network

Answer: D

NEW QUESTION 18
Cisco has long been the world's dominant supplier of computer networking products, systems and services. Which of the following is not included in Cisco's current
product lines?

A. LAN
B. Routers
C. Application Delivery Controllers
D. Switches
E. WAN
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Answer: C

Explanation: 
https://en.wikipedia.org/wiki/Application_delivery_controller

NEW QUESTION 20
Cisco aims to reduce their environmental impact as part of their green vision. Which of the following is not one of the ways?

A. Implemented over 100 energy efficiency and renewable energy projects in FY16
B. Improving product power consumption from plug to port
C. Used electricity generated from renewable sources for 77% of electricity demand in FY16
D. Reduce greenhouse gas emissions by 80% by FY17

Answer: D

NEW QUESTION 25
What are the top three protecting capabilities of Cisco Data Center?

A. enforce, segment, and access
B. segment, enforce, and detect
C. detect, authenticate, and replicate
D. detect, replicate, and access

Answer: B

NEW QUESTION 26
What is the Cisco TelePresence IX5200?

A. a flexible videoconferencing solution designed for small huddle spaces
B. an advanced all-in-one desktop collaboration solution featuring high-definition video
C. an intelligent dual-camera speaker tracking solution with two LED screens
D. a state-of-the-art triple screen solution featuring a dual row of seats for up to 18 people

Answer: D

NEW QUESTION 27
Which hybrid and public cloud solution services help customers design, plan, accelerate, and de-risk multi-cloud migration?

A. Cloud Consume
B. Cloud Protect
C. Cloud Advisory
D. Cloud Connect

Answer: C

NEW QUESTION 32
Which of the following are included in Cisco's portfolio of converged infrastructure solutions?

A. VersaStack.VxBlock.FlexStack.andFlexPod
B. FlashStack.VersaStack.HyperFlex.andVxBlock
C. HyperFlex.FlexPod.FlexStack.and VxBlock
D. HyperFlex.Talos.VxBlock.andVersaStack

Answer: B

NEW QUESTION 34
Customers are investing in uncompromised security of which 3 areas?

A. WAN, Cloud, Mobility
B. Cloud, Mobility and LAN
C. DC, Access and WAN
D. WAN, LAN, Cloud

Answer: A

Explanation: 
https://www.cisco.com/c/dam/en/us/products/collateral/software/one-software/one-overview-deck.pdf

NEW QUESTION 39
What types of collaboration endpoints are offered by Cisco?

A. phone, mobile, and virtual
B. phone, desktop, room, and mobile
C. desktop, room, and virtual
D. phone, desktop, room, mobile, and virtual
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Answer: D

NEW QUESTION 43
Which is the management component in Cisco's intent based networking solution?

A. UCS Director
B. UCS Central
C. DNA Center
D. CloudCenter

Answer: C

NEW QUESTION 44
Which of the following describes the NFV ENCS Virtualized branch?

A. a cloud-delivered overlay WAN architecture that facilitates digital and cloud transformation for enterprises
B. a hybrid platform that combines the benefits of a traditional router and a traditional server to offer the same functionality with a smaller infrastructure footprint
C. a security application that mitigates vulnerabilities to offer branch and consumers protection where they need it most
D. a network device that mathematically verifies the entire network for correctness

Answer: A

NEW QUESTION 45
......
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